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ﬁiﬁ% TREOBBOESSLADKRES TREDHBESSLADKRES TREOBHOEILADKRES TREDHESSLNDKRES
; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
Zh st 1.00 | 0.00 ~ 764 97.94 | TnLS | 000 ~ 764|252 1242 Fhst 1.00 | 6,00 ~ 10.50 97.94 | EnLSY | 5,00 ~ 1050 | 2.32 12,42
2 100kN/MZ#B% % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z#Z 5 — -~ — — |3mZE#BZ B -~ — — —
Zhst 1.00 | 0.00 ~ 7.66 9811 | =St | 000 ~ 766|212 11.32 Fhs 1.00 | 6,00 ~ 10.30 9811 | #nLSY | 5,00 ~ 1030|212 11.32
3 100kN/MZ#B % % — -~ = —|[3mEEZB| — ~ — — — | 100kN/MZ#Z % — - ~ — — |3mZE#BZ B -~ — — —
ZhnLst 100|000 ~ 765 98.06 | TnS | 000 ~ 765|285 12.60 Zh st 1.00 | 5.00 ~ 10.70 98.06 | EnLSY | 5,00 ~ 10.70 | 2.35 12.60
4 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ# %3 — -~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 6.41 80.71 | #hdst | oo ~ 000|167 8.92 ZzhLs 1.00 | 5.00 ~ 7.70 80.71 | #hs | 6.00 ~ 7.70|1.67 8.92
5 100kN/m#%#8Zx5| 1.00| 000 ~ 080| 11188 |3mZEBzB| — ~ — — — | 100kN/mi%#BZ % | 1.00 | 1064 ~ 1310| 111.88 |3mEHBZS -~ — — —
Zh st 1.00| 080 ~ 858 100.00 | #ns | 0.00 ~ 858|212 11.33 Fhs 1.00 | 5.00 ~ 10.64 100.00 | =S | 5.00 ~ 1310] 212 11.33
6 100kN/mM%E#8Z 5| 1.00 | 0.00 ~ 0.21 103.09 |3m&xEZH| — ~ — — — | 100kN/mi%E#BZ % | 1.00 | 10565 ~ 11.10| 103.09 |3mEHEZS -~ — — —
ZzhnLst 1.00 | 021 ~ 800 100.00 | =nLsY | 000 ~ 800|222 11.87 Zzhn st 1.00 | 5.00 ~ 10.55 100.00 | #nS | .00 ~ 1110|222 11.87
. 100kN/m#%#BZ25| 1.00| 000 ~ 0.78| 11159 |3mZEBzB| — ~ — — — | 100kN/mi% 25 | 1.00 | 1057 ~ 1290 | 111.59 |3mEHBZS -~ — — —
zh st 1.00) 078 ~ 856| 100.00| ThLs 000 ~ 856|214 11.47 zhst 1.00 | 5.00 ~ 1057 100.00 | #ns | 500 ~ 1290 2.14 11.47
g 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ#Z — -~ — — |3mZERBZ B -~ — — —
Zzhn st 1.00 | 0.00 ~ 4.74 59.06 | TN | 000 ~ 4.74|1.79 9.69 ZzhLs 1.00 | 5.00 ~ 56.00 59.06 | =N | 5,00 ~ 5.00)|1.79 9.569
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhnLst ~ Zh Lot ~ ZhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZnLs ~ Zh LS ~ ZNLS ~




